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SOCIOLOGY
- Paper - 11

ANRAAETY
WuR-I1

NOTE : This paper contains FIFTY (50) multiple-choice / Assertion & Reasoning/
Matching questions, each questions carrying two (02) marks. Attempt

ALL the questions.
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1.1 1. ~ Y T e o
1. Which among the following said

sociology 1is a science of
interpretative understanding?
(A) Durkheim

(B) Marx

(C) Pareto

(D) Weber

2. Which of the following is not a
feature of the caste system
(A) Endogamy
(B) Purity-Pollution
(C) Social Mobility -
(D) Traditional occupation

o

Rules of behaviour in society are
known as

{A) values

(B) norms

(C) sanctions

(D) folkways

4. The process by which the
individual internalizes and learns
to conform to the norms of the

group is calle

(A) Education
(B) Socialization
(C) Conformity
(D) Legitimacy
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Who discussed about insider and
outsider on the basis of in-group
and out-group?

(A) Robert Merton

(B) C.H. Cooley

(C) W.G. Sumner

(D) G. Homans

In Weber's view, the ideal official
in a burcaucracy performs her/his
duties in a spirit of

(A) Honesty

(B) Sincerity

(C) Efficiency

(D) Impersonality

Social facts are :

(A) Observable and measurable

(B) Neither observable nor
measurable

(C) Observable but not
measurable

(D) Having no constraints

When there is a gap between
economic development and
corresponding changes in social
institution it is known as

(A) Cultural pluralism

(B) Cultural relativism

(C) Cultural lag

(D) Cultural diffusion

Relative position or rank in a
group is called

(A) prestige

(B) power

(C) status

(D) esteem
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~ 10. Which.one of the following do not
practice "Jhum" cultivation?
(A) Naga
(B) Gonds
(C) Tharu
(D) Baiga
11. Match the concepts with another:
- Column [ Column 11
(a) Middle-range (1) C.W. Mills
theories (2) G. Mosca
(b) Circulation (3) E. Goffman
of elites (4) R. Merton
(¢) Ruling (6) V.Pareto
class
(d) Social drama
(@ ® (o (d
A 4 5 2 3
@) 1 5 2 4
Ccy 4 5 1 3
D) 2 5 1 3
12. The functional theory of
stratification was first put forth by
(A} Durkheim & Weber
(B) Marx and Engels
(C) Davis and Moore
(D) Parsons & Merton
13. The most widely practiced form of
marriage is
(A) bigamy
(B) hypergamy
{C) hypogamy
(D) monogamy
Sociology P-II
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The mass production of goods on
assembly line is known as

(A) Fordism

(B) Taylorism

(C) Consumerism

(D) Capitalism

Which of the foliowing is the most
significant feature of religion ?
(A) Belief in God

(B) Profane object

(C) Ritual

(D) Sacred object.

The most important characteristic

of jointness in the joint family is

Sharing a common kitchen

(B) Living under one roof

(C) Pursuing same occupation

(D) Strong sense of mutual
obligations.

(AN
\£3y

Cities are characterized by

(A) chomogeneohs population

(B) literate people

(C) relatively less primary group
relationships

(D) high standard of living

Social expectations attached to
social positions are knowrt as

(A) social status

(B) social roles

(C) socialization

(D) conformity
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19. Anand is unmarried and he stays
with his parents .and married
brother. This is a case of
(A) joint family
(B) extended family
(C) nuclear family
(D) none of the above.

20. Which of the following do not
} belong to the conflict school
(A) Durkheim
(B) Dahrendorf
(C) Simmel
D) Coser

|
‘ .
- 21. The works of Talcott Parsons
| attempted to :
(a) integrate Weber's individua-
lism and Durkheim’'s holism
‘ (b) his focus was on studying
deviations in individual action
Which of the following is correct
answer ?
(A) Both (2) and (b) are correct
(B) (a) is wrong and (b) is correct
(C) (a) is correct and (b) is wrong

(D) Both (a) and (b) are wrong.

22. Structural-functionalism is

(A) being ideologically
conservative

(B) Being ideologically radical

(C) Ignoring order and stability

(D) Ignoring conflict and change
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23.

24.

25.

26.

Max Weber had stated

(a) Power is the ability to impose
one's will over others even in
the face of opposition

(b) Legitimacy of power is known

as authority
Which of the following is correct
answer ?
A) (a)is correct but (b) is wrong
(B) (a) is wrong but (b) is correct
(C) Both (a) and (b) are wrong
(D) Both (a) and (b) are correct.
The social process by which
conformity is ensured and
deviance is checked is known as
A Social cohesion
(B) Cultural value
(C) Social change
(D) Social control

Shitaiben worked in the office of a

- private company as a clerk for

about 3 years. Then she passed
the state civil service exam to
become a mamlatdar. This
mohility is known as

(A) Vertical mobility

(B) Intergenerational mobility
(C) Horizontal mobility

(D) Circulation mobility

|
(a) ' In totemism, objects
wdrshipped'are profane
objects .
(b) Totemism is an example of
elementary form of religion
Which of the following is correct
answer ?
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28.

29.

(A) Statement (a) and (b) are
correct ’

(B) Statement (a) and (b) are
incorrect

(C) Statement (a) is correct and
statement (b) is incorrect

(D) Statement (a) is incorrect and
~ statement (b) is correct

According to census of 2001, the
rate of population growth in India is
(A) below 1.5 percent

(B) between 2.0 percent and 2.5
percent

(C) between 1.5 percent and 2.0
percent

(D) above 2.5 percent.

Which one of the following types
of societies provide favourable
ground for increase in role-conflict
(A) simple and primitive society

(B) heterogeneous,
changing society

rapidly

FON Vo ar Vo pat Ly
\\L) reiauvely siaiiovnary SOCLELY

(D) feudal society

The term "little republics” as used
by: :

(A) Charles Metcalfe

(B) Robert Redfield:

(C) Samir Amin

(D) B. Malinowski
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30. According to Talcott Parsons,
social order is based on

(A) Force and constraint

(B) Freedom of action and belief
(C) Sharing of cultural values
(D) Shared norms and values

31. Who believed that social structure
had nothing to do with empirical

nnlit

reaiivy

(A) S. Radcliffe Brown
(B) V. Pareto
(C) C. Levi-Strauss
(D) S.F. Nadel

32. Who said that conflict is a form of

co-operation

(A) L. Coser

(B) G. Simmel

(C) R. Dahrendof

(D) R. Merton

33. When an individual occupies
different siatuses and performs
roles related to all those statuses
it is known as

(A) Role set

(B) Role strain

(C) Multiple roles

(D) Role sequence

ority is alien

to the established institutions
of society

(b) It is temporary and unstable

Which of the following answer is

correct ?

Sociology P-II 10
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35.

36.

(63)

(A) Both (a) and (b) is wrong

(B) (a) is correct but (b) is wrong
(C) (a) is wrong but (b) is correct
(D) Both (a) and (b) are wrong.

Who from amongst the following
sociologists has distinguished on

the functional basis organic

solidarity from 'mechanical
solidarity found in society ?

(A) Emile Durkheim

(B) Vilfred Pareto

(C) Radcliffe Brown

(D) Malinowski

According to Maxian formulation,
mode of production consists of
(A) land and raw material

(B) machine and manufacture
(C) work activity and lahour
process

means and relations of
production

D)

. Match Column I with Column II

Column I1

(1) Latent-Manifest
function

(2) Functional
prerequisities

(3) Structural
functionalism

(4) Functional needs
C 1

Column I

(a) Parsons

(b) Merton

(¢) Malinowski

(d) Radcliffe-
Brown

AN
\ay

(B)
(©)
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38. Statement : (1) Social inequalityis  3¢. (Rt (1) rulrs By ais

a universal phenomenon - dBs wea 8,
Course : (2) No society is devoid SR () SO ey ﬁ,& AL
of division of labour in one or the oflon zazuaL % [QAewral Hsa
other form sl
Which of the following is correct AR G s S ¢
answer ? S (A) LA R A WRE D uig R A
(A) 1 and 2 both are true, but 2 2+l 2egedl Bl AL o
doesn't give a true answer to el
explain 1

ST SHS = o vueE on sa R
(B) LML MR WG Bt 1 W

(B) 1 and 2 both a re true and 2 U ol 20l 20l vt B,

truly explains 1

(C) 1 1is true but 2 is wrong C) 13 B u ‘i\% 8.
- (D) 1 is wrong but 2 is true. (D) W, wel = w8,
39. Match Column I with Column IT *

Column 1 (Author) Column II (Publication)
(a) Karl Max (1) Class and class conflict in industrial society
(b) R. Dahrendorf (2) Functions of social conflict '
(¢) R. Collins (3) Conflict sociology
(d) L. Coser (4) The German Ideology

a b c d
A 1 2 4 3
B 2 3 1 4
(8)] 3 4 2 1
D 4 i 3 2
3¢, SlEs 1A stes I Wl = U, ‘-?Ng; giAL. ,

stes I (aws) Sies I (Usidet)
() sl,c-im.m (1) SEUR Birs SR Se5lAse S Sesadlua WUl
(b) BURIGASTE (2) $5n Wy WA st-§@se
(¢) 22, sUA- (3) slegprddse Wi
(d) WNA-SiAr (1) &. odde RSl

a b e d ’

A 1 2 4 3
@ 2 3 1 4
1(9)) 3 4 2 1
D) 4 1 3 2
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Column I
(a) Dialectical materialism
(b) Collective conscience
() Pattern variables
(d) ideal type

41. According to Parsons, which of the

nov‘Fnrm a
»

A adaws

.......... adaptive
function?

(A) economy

(B) policy

(C) law

(D) school

42. The method used by Durkheim in

his study of Suicide in known as :
(A) Etiological method

(B) Survey method

(C) Causal analysis

(D) Statistical method
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40. Match the concepts in column I with the author in column II

Column II
Weber
Parsons
Marx

Durkheim

Stes I (s

a b c d
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@A) sreruR wald

B) ad wald
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43.

44.

45.

46.

47.

Education has no effect on social
mobility. This is an example of
(A) Null hypothesis

(B) Substantive hypothesis

(C) Theory

(D) Law

Reconstructing history through
recording of mnarratives of
individuals is known as

(A) Historical method

(B) Life History

(C) Oral History

(D) Narrative History

Which one of the following tools of
data collection is used in all
scientific studies

(A) Case-study

(B) Observation

(C) Participant observation

(D) Interview

The sampling procedure in which
each unit in a defined population
has an equal chance of being

+hana 1nnts £
L,MGDUL;, and the selection of any

one unit has no effect on the
selection of any other is called

@)
(B)
(©)
()

pulpumv'c b.:u*upuug

random sampling

simple random sampling
purposive stratified sampling

When is a pilot study conducted ?
(A) before commencement of

B)
(©)
D)

after research is _completed
anytime during research
when formulating
research problem

the
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48.

50.

When each case in the universe
being studied has a fixed chance of
being selected in two simple, 1t is
known as

(A) Probability

(B) Random sampling
(C) Purposive sampling
(D) Stratified sampling

The variable whose influence we
want to remove is called

(A) Independent variable

(B) Control variable

(C) Dependent variable

(D) Intermediate variable

(a) According to Durkheim, rate
of suicide varies according to
degree of normative
regulation

Egoistic suicide occurs
carrying to lack of normative
regulation.

(b)

- According to you these light of

above which one of the following
statement is true
(A) Statement (a) and (b) are

SAovnand

(B) Statement (a) and (

incorrect

(C) Statement (a) is correct and
statement (b) incorrect

(D) Statement (a) is incorrect and

statement (o) is correct.

b) are
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¥<,

-

AR WA §6M I dande
AR HIAL WAy DsnA R aul
watgoll winatdl euGUl syl
SAAC s WAL B AR 3, sgun B ¢
A) Asldaar

B) uzxw Mzl

(C) gaeall Reala

(D) 2alRa (s

e, WRacl) V) musiesdl 2008 £2

SU10 AR 53 wRael sgun
(A) zadst

®B) Filfq

(C) 2ulRa

(D) Heury

(2) EWISHAL A, BUcHGRALAL ER

Wl udr Faisedl sau 6w

MR AW B,

VUCHAAN, BeHGeL RSl

wat (Rt senan el

O,

GuRLzetell 250U uRL WA, et )

&4 (e ey B 2

(A) (a) 2 (b Qe Al B

(B) (a) 2 (b) &

(©) (2) @ 23 8 W (b) Bum
Wi, 8§

D) (a) [t vig 8 23 (b) Qs
Wy

-

Lq.""ﬂ. "k ) V LS

[P.T.0.]
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